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Cpennee obuiee obpasoBaHie
10 kaacce
Pycckuil si3bik 34 L el 0 0 | 1] 1 0 | 0 0 1 0] 3
JTuteparypa 103 1M 0 0 [ 1] 1 L opnl 0 0 0 111 4
AHCMiACKui s3pik - 102 1|1 1|1 0 | (1] 1 0 0 141 0 2 12| 6
MatemaTuka 245 2 2 Ll 1 ” | 2| 2 1 1 1 21 2 212 2 12| 14
Hctopust 70 1 1 1 1 1 1 1 1 1 1 T il 1 1 1 1 9
Duznka 175 1] 1 2| 2 1 | 0 0 1 11 1 1 |1 21219
Buosorust 35 1] 1 0 0 , 1] 1 m 0 0 | 11 1 1 0] 4
Xumus 35 0 0 0 1] 1 0 0 0 1 1 1 | 1] 3
O011ecTBO3HAHIE 68 1 0 1 1 1 1 1 1 | 0 1|1 7
Teorpadus 34 1 0 0 W 0 ” 0 0 | 0 0 1| 1] 2
Wupopvatika 105 1 0 1 1] 1 1 1 1 il 1 2 121 9
11 knacce

Pycckuil s3bIK 34 1] 1 0 0 I [ | 0 T 1 0 1 0| 4
Jlutepatypa 103 1|1 0 0 BER 0 U 1 0 1 0 10| 4
AHIIHACKUIN S3bIK 102 1 1 ] 0 11 0 AT 1 1 1 0 2 2 7
MatevaTuka 238 2 |12 1 1 2 | 2 | 1 AT 2 2 |2 2 |2 2 | 2| 15
Hctopus 70 1 1 0 0 11 0 AT 1 1 1 0 0 4
duzuka 170 1 1 0 0 1] 1 1 1 1 1 1 1 2 | 2 8
Buosorus | 35 L 0 0 11 0 | AT 1 1 1 0 i 5
XuMmus 35 1 1 0 0 0 0 | AT 2 0 2 1 1 6
O0uecTBO3HAHME 68 1 1 | 0 1] 1 0 AT 1 1 0 1 |1 6
["eorpadus 34 1|1 0 0 0 0 JT 1 0 0 0] 2
Hudopmaruka 105 1] 1 1 1 11 0 JT 1 0 | 1 I 7
Hrorosoe counneHue 11 !




